
Rser=0.1

SINE(0 339 50 0 0 0)

V1

SINE(0 339 50 0 0 240)

Rser=0.1
V2

Rser=0.1

V3

SINE(0 339 50 0 0 120)

D1

MUR460

D2

MUR460

D3

MUR460

D4

MUR460

D5

MUR460

D6

MUR460

R1

1k

Rser=0.1

SINE(0 339 50 0 0 0)

V4

SINE(0 339 50 0 0 240)

Rser=0.1
V5

Rser=0.1

V6

SINE(0 339 50 0 0 120)

D7

MUR460

D8

MUR460

D9

MUR460

D10

MUR460

D11

MUR460

D12

MUR460

R2

1k

.tran 0 1000m 0.016 1u startup

.four 50 20 I(V4)

A B
336Vpk

584Vpk

 ---  C:\Users\masse\Documents\Three phase rectifier _2.asc  --- 


